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1. On 21st January 2022, three states observed their 50t Statehood Day, which of the following

is NOT one amongst these three?

(A) Manipur (B) Meghalaya
(C) Nagaland (D) Tripura
2.  Who was instrumental in founding the National Planning Committee (the forerunner of the

Planning Commission) in 1938, for drawing up a plan of economic development on the basis

of industrialization?
(A) Motilal Nehru
(B) Subash Chandra Bose
(C) B.G. Tilak
(D) Moulana Abdul Kalam Azad

3. In 1933, Mahatma Gandhi withdrew from all political activity and made a country-wide tour

covering a distance of 12,504 miles. This tour is known as :
(A) Jan Jagaran Yatra
(B) Dandi Yatra
(C) Samaj Samata Yatra

(D) Harijan Yatra (tour)

4.  Which of the following forts was not constructed during Akbar’s reign?
(A) Purana Quila (B) Agra Fort
(C) Lahore Fort (D) Allahabad Fort

5.  Who led the anti-Colonial Tribal revolt of 1812 in the jungles of Wayanad?
(A) Raman Namby (B) Thalakkal Chandu
(C) Pazhassi Raja (D) Edachana Kunkan
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10.

11.

Which social reformer of Kerala was involved in Kallumala Samaram or Perinad revolt?

(A) Sree Narayana Guru
(B) Ayyankali

(C) Poikayil Appachan
(D) Chattampi Swamikal

In which year Kerala was declared a fully literate state?
(A) 1990 B) 1992
) 1991 (D) 1989

The war criminals of the Second World War were put to trial in :
(A) Pittsburgh (B) Peitersburg
(C) Gettysburg (D) Nuremberg

During the 18%* Century who among the following philosophers said these famous words?

“Man is born free but everywhere in chains” :
(A) Jean Jacques Rousseau
(B) Voltaire
(C) Baron de Montesquieu
(D) Denis Diderot

Which of the following is not an official language of United Nations?
(A) Spanish (B) French
(C) Arabic (D) Portuguese

The National Waterway-3, originally extending from Kollam to Kottappuram was extended
to which place as per National Waterways Act 20167

(A) Thrissur (B) Kannur
(C) Kozhikode (D) Malappuram



10.

11.

al9]00I880o

alg|nQI88o Galdfr! allleando

038/2024-M

BRPDEIO MVDOEMTELIO @OELIHIBY alBlMIS BLIAIGHICRI OWBeA S CHEa@Blleal Idadld:
al@lagd@®OT?

A) vyl MIOWEM U®)

(B) @008

©)  ©aloWI@ @oq].o|

(D) 21gmil aupailestd

@080 MMYABEN MOBHO®WIBR VoMMV (e jdall o] Aldauto?

A) 1990 (B) 1992
(©) 1991 (D) 1989

©6N300 GRIDHHDA0IWELMTOL! @IALHNRAVEIB:U ag)afloswoam all 21o0em 6.21Qea]5®?
@A)  adlgomienudey B) aflleggmieniduy

©)  ewglmienidu) D) myooenIdUY

al@flomgoo MRIENEITY ®06Pa]O@IMM @@ laNB:ElE EREIEM 0 (IMIALAIW QAUIBEDD
alOEmTN®? ‘@Mt i (@M MOW &ailEnNM}, aleHH ag)pjowiisemgo o lempealwfaoe

(A) i 208 016V

(B) eauotdswd

(C)  enuomed AUl HMIEENSTVE: Y

D) el aslawenos

®269a|0QIMAUWIC @I 6)ag)d: j0CYNVEWINS BVEBIOUIIE: BIaH BOLJOETN®?
A oilad B) (anemf
(C) @ooeniles D) Gatdd o puIlmy

Wl &elald® dflwmo 2016 (ald000, I MO EMHIZa0e IO Tlgm eaUllw
2RI I0®-3 of® uALlo AUOOWIEN MISIW®?

A)  oppd (B)  ®emd
(C)  @B0¥IeH60S (D) oelgpoo



al9]00I880o

alg|nQI88o Galdfr! allleando

038/2024-M

12. Which among the following is NOT a geothermal field in India?

1. Tatapani

2. Narora

3. Puga

4. Singrauli
(A) 1,2and 3

(B) 1and3

(C) 3and4 D) 2,3and 4

13. Which of the following pairs 1s INCORRECTLY matched?

Parent rock Metamorphosed rock

(A) Granite - Gneiss
(B) Sandstone - Schist
(C) Limestone - Marble
(D) Shale - Slate

14. What projection is used in the Survey Of India (SOI) Topographical maps?

(A) Lambert Conformal Conic
(B) Mercator

(C) Polyconic

(D) Azimuthal equidistant

15. Noto, which suffered a 7.5 scale Earthquake and a devastating tsunami on new year day of

2024 is in which Asian country?

(A)

©)

South Korea (B) Afghanistan

India (D) Japan
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16.

17.

18.

19.

20.

Find out the instruments of monetary policy in India :
(1) Marginal Standing Facility Rate
(11) Deficit financing
(i11) Statutory Liquidity Ratio
(iv) Taxation policies
(A) only (1) and (11) (B) only (1) and (ii1)
(C) only (1), (i1) and (ii1) (D) only (1), (i1) and (@v)

What does the Government do in a contractionary fiscal policy?
(A) Higher Government spending and lower taxes
(B) Higher Government spending and higher taxes
(C) Lower Government spending and higher taxes

(D) Lower Government spending and lower taxes

GDP at factor cost is equal to :
(A) GDP at market price — Net indirect taxes
(B) GDP at market price + Net indirect taxes
(C) GDP at market price — Depreciation

(D) GDP at market price + Depreciation

Which five-year plan did the Government introduce Insurance Regulatory Authority in

India?
(A) Seventh Five Year Plan (B) Ninth Five Year Plan
(C) Tenth Five Year Plan (D) Eleventh Five Year Plan

Which of the following Union Ministry launched e-Shram portal for creating a Centralized

database of all unorganized workers?
(A) Ministry of Finance
(B) Ministry of Skill Development and Entrepreneurship
(C) Ministry of Social Justice and Empowerment

(D) Ministry of Labour and Employment
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21.

22.

23.

24.

25.

Which of the following is not a function of civil service?
(A) Implementation of Government’s Policies
(B) Delegated Legislation
(C) Mobilize opposition to the Government

(D) Carrying out the social services

Which among the following is/are correct regarding the objectives of NeGP as articulated in
its Vision Statement?

(1)  to bring public services closer home to citizens

(i1) ensure efficiency and transparency

(i11) services at free of costs
(A) only (1) (B) only (1) and (i1)
(C) only (1) and (ii1) (D) only (i1) and (ii1)

Which among the following is/are correct regarding the functions of Political parties?
(1) function of socialization and participation
(i1) function of integration
(i11) function of exercising political power
(A) only (1) and (i1) (B) only (i)
(C) only (1) and (ii1) (D) all the above

Name the scheme introduced by the Central Government to incentivize creation of new

employment along with social security benefits and restoration of loss of employment during
COVID-19 pandemic :

(A) Pradhan Mantri Rojgar Protsahan Yojana (PMRPY)
(B) Aatmanirbhar Bharat Rojgar Yojana (ABRY)

(C) Production-Linked Incentive (PLI) Scheme

(D) Stand up India Scheme

Which state has recently announced a reduction in the age limit for old-age pensions from
60 to 50, with a specific focus on tribals and Dalits, in order to enhance financial support for
marginalized communities within the state?

(A) Jharkhand (B) Maharashtra
(C) Orissa (D) Chhattisgarh

-10-
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26.

27.

28.

29.

30.

Consider the following statements with regard to the Constituent Assembly :

(1) The idea of a constituent assembly was put forward for the first time by Jawaharlal
Nehru

(11) Total strength of the assembly was 389
(i11) Mahatma Gandhi was a member of the Constituent Assembly
Which of the statements given above is/are correct?

(A) only (@) (B) only (i1)

(C) only (1) and (11) (D) all the above

Article 26 provides Freedom to manage religious affairs which is subjected to which of the
following?

(i)  Public order
(i1) Morality
(i11)) Health
(A) only (1) and (i1) (B) only (i11)
(C) only (1) and (111) (D) all the above

Article/s which has provided provisions for the protection and improvement of the
environment and the safeguarding of forests and wildlife :

1 31A

(1) 48A

(1) 51A
(A) only (1) and (i1) (B) only (11) and (1i1)
(C) only (111) (D) all the above

Consider the following statements with regard to the removal from the offices of
Speaker :

(1) Requires a majority of all the members of the House
(i1) Requires 2/3"d majority of members present and voting
(i11) Mandatory to give a minimum of 14 days’ notice of the intention to move the resolution
Which of the statements given above is/are correct?
(A) only (1) and (i1) (B) only (i1)
(C) only (1) and (ii1) (D) only (11) and (ii1)

What is/are the major change/s made through 106t Constitutional Amendment?
(1) Amended article 239AA

(i1) Insertion of articles 330A, 332A

(111) Separate reservations for OBC women

(A) only (i) (B) only (i)
(C) only (@) and (11) (D) all the above

-12-
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31.

32.

33.

34.

35.

36.

317.

38.

39.

40.

Who won Wimbledon in 20237
(A) Novak Djokovic (B) Carlos Alcaraz
(C) Jennik Sinner (D) Daniil Medvedev

Which book won the first Vayalar Award?
(A) Randamoozham (B) Ummachu
(C) Agnisakshi (D) Eni Njan Urangatte

Who is the first Malayali to win an Oscar?
(A) Resul Pookutty (B) Satyajit Ray
(C) P.J. Antony (D) M.T. Vasudevan Nair

How many runs did Sachin Tendulkar score in one day international cricket?
(A) 19,463 (B) 15,921
(C) 14,368 (D) 18,426

Who is the screenplay writer of the film Kattukuthira?
(A) Thakazhi Sivasankara Pillai (B) P.C. Kuttikrishnan
(C) S.L. Puram Sadanandan (D) Ramu Kariat

Who wrote the preface to G. Sankara Kurup’s Odakkuzhal?
(A) S. Guptan Nair (B) Joseph Mundassery
(C) M. Leelavathi (D) Sukumar Azhikode

In which year did Kumaranasan passed away?
(A) 1922 B) 1924
(C) 1926 (D) 1928

Who is the director of the movie Kanchana Seetha?
(A) G. Aravindan (B) Adoor Gopalakrishnan
(C) P.Padmarajan (D) Bharathan

Who was the coach of Argentina football team for 2022 FIFA World Cup?
(A) Carlos Bilardo (B) Didier Deschamps
(C) Claudio Echeverri (D) Lionel Scaloni

Thunchan Parampu is located in which district in Kerala?
(A) Palakkad (B) Malappuram
(C) Kozhikode (D) Thrissur
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41. Match the following :
(1) Hub (a) Can handle different protocols
(1) Router (b) Amplifies the signal transmitted on network
(111) Repeater (c) Connects two dissimilar networks
(iv) Gateway (d) Connect several computers together

42.

43.

44.

45.

46.

A)  ®-(d), W - (a), (i) - (b), @) - ()
B)  © - (), @) - (d), (i) - (b), @) - ()
© @ - (), 1w - (a), ) - (c), @) - (b)
D) @ - (d), () - (0), (111) - (b), (iv) - (a)

The supplemental memory system that temporarily stores frequently used instructions and
data for faster processing by a computer’s Central Processing Unit (CPU) :

(A) RAM (B) Hard Disk Drive
(C) Cache Memory (D) Flash Memory

An advanced phishing technique where attackers make a clone of a website and send the
malicious link to the victim and try to extract sensitive data such as card numbers, user
names, passwords etc., from victims :

(A) Ransomeware (B) Salami Attack
(C) Web Jacking (D) Virus

A software that can be freely accessed and modified is called :
(A) Proprietary software (B) Package software
(C) Middleware (D) Open source software

One of the most popular search engines, founded by Larry Page and Sergy Brin is :
(A) Yahoo (B) Google
(C) Bing (D) Safari

Which among the following is a Government health insurance scheme launched in the
year 2018?

(A) Rashtriya Swasthya Bima Yojana

(B) Ayushman Bharat Pradhan Mantri Jan Arogya Yojana
(C) Pradhan Mantri Swasthya Suraksha Yojana

(D) Pradhan Mantri Suraksha Bima Yojana
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®269a]OWIMAL HAIOOIEDEQ SO :
@)  aoenl (a) QL®IM® GIOEZICHHIREUD 66000 6).21QJ0M & ¥lw)o
(i) g0 (b) ©MRAUABEB HOBHBOGo 621 ailumellem aldallaflenymmy
(iii) dlaflgd (© @62 Qly®IN® OHMRAUBHNHOR eniaWlalleaniom)
iv) ewgeQl (d) lecull B:m150e@ 6yl o eniaullafloedes

A) @ -(d), @ - (a), (i) - (b), @) - (c)
B) @ - (), @) - (d), (i) - (b), (v) - (c)
© ©- (), @ - (a), () - (c), @) - (b)
D) @ - (d), () - (¢), (1) - (b), () - (a)

HMUYSAO@ OMES@ elalomqdlory @emlg (Mlaflwy) ealmomlenss eelomqlousimou
al@floloe]l  ©alewoudleanym  ldeguetEglo  WoQ@Io  MO@ENILNGm0W]  oE@leeyMM
Mg flea@d eaomdl milgyo :

(A) 020 (B) 000l alSlnies &8l
(©)  ®96a¥ 6O (D) qgoadd &M

@D(H>DEME0BE0D B30 HAUMIOOHMVEION 630} ELHNM HENSOLENBHI0 EDOWHE) HH)(BLHOMIW
efles  @OQOHNDHQ0  MHOBEI@ oM &OBW MMUOEBWD,  HAICIBMYMOIMETBWR,
AldMIBQUUED  M@EI®AI  Galdeles  eammiglal g  ag)dmisdsy  621gm
GOElHeNB@I0 621 Qfla RAINIW adlatloty MOEE@ @O :

(A)  ©0endeaIee LD (B) avelodl @g@-nemo

(C) equemi ®0s6lowd (D) e6UOM

@ DRI BRYETVMY 6).21QJIMI0 alBlatBH@HHIMIMER 630 BILOANROAUQAIOHM
Q)M alO@M),

A) @166 IQC BaVINROOIWD (B)  aloeo6Ed Eroaigelwd

(©) dadldecid (D)  &dqajed caVYE ENLANREIQD

eI0Gl  Galgglo emdgdl (il  Goldam  qunoafle) aggllec RMENWM® oMV
ag)erailmyesel@d sam :

(A)  @da0y B) AR

(C) enfloy (D)  qVand@

®269a|0IMAIWIE a@®o6m 2018-@ @DO0El 2] MVABHID @DEOI EDMDaUOMN alaLwfl?
Q) ool cvpmny enflo swozm
B)  EDWHDIMD BIO® (A IWIMDM((TTI LM EYEOIW§ ERORM
(C)  (1WOB:(TBI] TVPAVO Y AVIOBH CRILRM
D)  (aIWoMB: (Dl MVEHH eniimd com
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47.

48.

49.

50.

Arrange the following renewable energy sources in the decreasing order of their contribution
to electricity generation in India :

1. Solar power

2. Wind power

3. Biomass

Select the correct answer
(A) Solar power < Biomass < Wind power
(B) Solar power > Biomass > Wind power
(C) Wind power < Solar power < Biomass

(D) Solar power > Wind power > Biomass

Which of the following is not a satellite of Indian origin?
(A) XPoSat (B) IXPE
(C) SROSS-C (D) HySIS

Consider the following statements on The Convention on Biological Diversity :

1. It is the key international treaty for the conservation and sustainable use of
biodiversity
2. It is primarily implemented through national level action

3. National Biodiversity Strategies and Action Plans (NBSAPs) are the principal
instruments for implementing the Convention at the national level

4. It requires countries to prepare a national biodiversity strategy and to mainstream this
strategy into the planning of the sectors whose activities can have an impact (positive
and negative) on biodiversity

Which of the statements given above are correct?
(A) 1,2 and4 only
(B) 1,3 and 4 only
(C) 2and 4 only
D) 1,2,3and 4

What is the distance of the Lagrange point 1(LL1) of the Sun-Earth system?
(A) 1.5 million km from the Earth
(B) 1.5 million km from the Sun
(C) 1.51lakh km from the Earth
(D) 1.51akh km from the Sun
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@O OWIM ahNOI IO OVBVR EEVIBUNBWD DM Iloal HOHAIBYEMITR]OBM@ITIEd
@OCUWIOS AVOBICUM HROWIM (BDDTIED (>0 BB :

1. VocEIdPR0

2. &0 Lol

3. enIeWOmoy

NEWIW HODOO BOEETTNSIHE]Ds.
(A)  aVVEEOBBRO < NIGWIMIMY < HOF VO]
(B)  aLVEEOBBRO > NIGWIMONY > HHOF UOBHD]]
(C)  0Q ol < MVVEEIBBRO < EUBLONIMY
D) aVVEEOBdBRO > HOF VBB > EUCOMIMY

®269a|0IMAIIE aR®IEM DA | QLUCNRAIOS Ol (DaOBROET®?

(A) XPoSat (B) IXPE
(C) SROSS-C (D) HySIS

o0 6©6UANWIOOHENG2Y8E  HMOAUMDAUOMBNC] 2SS ®IOLa]OVIAM  (AIMV®OQ
MWD alBlNENB6)Hs

1. eezaleeciallwi@den qoodtem@dimio qmdlo  ©ale@IN@TMRMEE (o Iwom
@MDY HSMUSIIENII@)

2. eeUlw ®AIEHlaRSs (IAIBGTHMETEIaReSWIEM @ (L0000 Msaflelodemey

3. el eezaeeQllLy ®EMEBEe (AUAGDM alabdlleglo (NBSAPs) eauilw
®RIETIED H6MEIMdaHMD MSaflRSNMEIMER (. IWIM Pald-06METBRIEM.

4. &0} Ul 66RAOAIANW) ®(Mo MYIOILHIMIo DD @(OMo HEERAUSOOTW JEIE
(saomiliglad,  emmglal)  apdilme eolepEmO  HYI@IM  CORIRIBRIOS
@DIVI@EMNETIGLIHE) E0°0 @(HO@T) M6 JWOIOIBHHIML0 IR IETBUD GOSN,

6@ MBI DB BT (IWIUMNBEN@ ag@oa) vod]?

A 1,2, 4 oo®o B) 1, 3,4 mo@®o
©) 2,4 mo@o D) 1,2,3,4

VJ4-EDM QUIAIMOWES LI(N6r2 Galo@flad 1(L1) & Bj0o ag)@@oem?
Q) @@ aflom’ 1.5 Guoeleto «3).all.

B) e Mld allan 1.5 cuoelssio &sl.al.
(C) @alI@ aflom’ 1.5 eletio &sl.all.
D) aeydlad allom 1.5 alesto &sl.all.
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51.

52.

53.

54.

55.

56.

57.

Arjun went 25 km to the west from his house, then turned left and walked 15 km. He then
turned East and walked 40 km and finally turned left and covered 15 km. How far is he now
from his house?

(A) 20km (B) 15km
(C) 40km (D) 25km

Find the next item in the alpha-numeric series :

Z1A, X2D, V6G, T21J, R88M, P445P,

(A) N2676S (B) T2670N
(C) N2676T (D) T2676N

If the first day of the year (other than leap year) was Sunday, then which was the last day of

the year?
(A) Monday (B) Tuesday
(C) Sunday (D) Thursday

P is Qs sister. R is Q’s mother. S is R’s father. T is S’s mother. Then how is P related to S?
(A) Grand mother
(B) Grand father
(C) Daughter
(D) Grand daughter

In an examination, 40 percentage of students failed in English and 53 percentage in
Mathematics. If 15 percentage failed in both subjects, what is the percentage of those who
passed in both subjects?

A) 24 (B) 26
© 23 (D) 22

If RED = 12, BLUE = 20, VIOLET = 42. What is the code for MAGENTA?
@ 7 (B) 13
(C) 56 M) 101

What is the angle between the hour hand and minute hand of the clock at 6.40?
(A) 40° (B) 32°

©) 26° (D) 45°
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@M @6 aflglad allam 25 #lealodlqd alSlemmoen0g Galowl, allomils ensemmes) @ldlernsy
15 esleaonlngd msamy. allmls’ wileeenog aldlan® 40 &leandlgd msmm asjalld ensemmes
@dlero) 15 srleenadlgd aflomilgy. @oaidd eealodd allglad alam ag)® cieowoem?

A) 20 &0l (B) 15 ®l.ol.

(C) 40 &0l D) 25 ®l.ol.

@YENI-TVo6 Y0 GUYHEMILIeLI BOSYET alBo HEENSETD: :
Z1A, X2D, V6G, T21J, R88M, P445P,

(A) N2676S (B) T2670N
(C) N2676T (D) T2676N

Qdbayedileoal  @oay  dlaltve  (@eullaldatio  BYlIOE@ISR®)  EMmOWOIY.IWIEEMESIED,
Q@O @OAINOM QIO aR®IEM?

(A)  ®etd (B) 6100

(C) emOWd D) alypwo

P, Q aflodd meanoadl@osm. R agim® Q @es @oam@oem. S ag)ma@ R 6@ allmoal. S e
@on@oem T. ag)@sl@d P @) S @mom)as enimo ag)amoem?

A) mevydl B) ool

(C) od:W (D) &0 2PNBHD

8 al@le@ilad 40 vo@mmomo AflBd@mAlE:W ogladllelo 53 vummOMo Gald wemMld@ ieyo
alo0BWealg).  o6s)  Qflavwemsglaljo 15 (o@@IMo  6mIRI@ e Qflavwensslalo
aflzdll.ojaimes ®mmomo ag)(®?

A 24 B) 26

€ 23 D) 22

2halaf =12, aflel = 20, QIWAIF = 42. ARANQYOS CHIUW ag)an6eM)?
A 71 B 13
(C) 56 D) 101

6.40-0 ;00656 menleed muyafleanio dlailg avyofleanie Hswilenas ¢ ag)®?
(A) 40° B) 32°
(C) 26° (D) 45°
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58. A watch which is set correct at 5 am, gains 2 minutes in every 30 minutes. What is the actual
time when the watch shows 10.20 am on the same day?
(A) 10.40 am B) 9.45am
(C) 10.00 am (D) 10.10 am

59. The average of six consecutive even numbers is 25. What is the difference between the
largest and the smallest of these numbers?
(A 20 (B) 10
(C) 45 D) 15

60. 40 friends at a marriage party shook hands with each other only once. Find the number of

shake hands :
(A) 40 (B) 1760
(©) 80 (D) 780

61. Two numbers are in the ratio 3:5. If each number is increased by 10, then their ratio

becomes 5 : 7. The numbers are :
@A) 3,5 B 17,9
C) 13,22 (D) 15,25

62. A contractor employed 210 men to complete a construction work in 60 days. After 12 days, he

added 70 more men. In how many days will the remaining work be finished?
4) 38 B) 35
(C) 36 (D) 40

63. A man sells two horses for Rs. 6,000/- each, neither losing or gaining in the deal. If he sold
one horse at a gain of 25 percentage, then what is the percentage of loss at which the other

horse 1s sold?

A) 30% (B) 162
©) 15% D) 40
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5 am-0 AW moeledofldesmnm e oo, &6rd 30 ddlgleye 2 dlrlg aflemo
BSYDO 06NN, @OE® o 10.20 am M) A0 2florl @I MAWo ag)(@@I6M?

(A) 10.40 am B) 9.45am
(C) 10.00 am (D) 10.10 am

@S| WOW BYO DO VOB JE-EIOS LDOIWEl 25 @M. §DD Vo6 Sl oRRORo Qlelmyo
6210J@MOW Vo6 J&-0d @OIIERER QLY®JOMVo ag)(@@IET)?

A 20 B) 10

(C) 45 D) 15

&) Aflaad alodgldleal 40 MVIAOYETIRBHWD BClHHE M@0 aldMialdo 6)6)H: BYLRHS.
OOBANLRANLNDBIOS f)SN0 BEENBOTD)s.

(A) 40 B) 760

©) 80 (D) 780

Q6NE" Mo 3 & 5 ag)MM @M IO®@TILINEM. 60600 Morli@io 10 HSIWIG @IWES
@OMIaIOmOo 5 : 7 @OW] MO, aG)8HI@ MVO6L Jds(D :

A) 3,5 @ 7,9

(C) 13,22 D) 15,25

60 dlauauo 80enE &) AIldmmoem 6oell aRETBWILHIM BM) BHOIOIBOM 210 GaleXd
rledla). 12 dlaum@slay @uoatto @REGaN0 70 Gale)® ©BS] BoIld®D). 0B GERIENE:W ag)®
Alaum@BIMaEd o)A@ TIoLE0?

A 38 B) 35
(C) 36 D) 40

800D 06NE B)dl0868 6,000 Mal@ss QLM §0SaIoSIED MaYEMD AIDEEMD @OWIUWDDHE)
D). @WIR 61 HIBIEOW 25 LBMOMo LIDEEMIG AlleoQ®E:ldl, neq HyTloa® afl@eanynm
MaYOTOTR LBAIMO ag)(@OWIEM?

1 2
A) 305 (B) 16g

©) 15% D) 40
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64. A box is to be filled with apples each weighing % kg. The weight of the box after filling the

apples should not exceed %kg. What is the maximum number of apples that can be put

inside the box?

@A 6 B) 8
©C 7 (D) 10
65. How many terms will have to be added to get a sum of 10877 in the arithmetic series?
5,9, 13,...
A 71 (B) 63
© 173 D) 74

66. A cylindrical bucket of diameter 42 cm and height 10 cm was full of sand. When the sand in
the bucket was poured on the ground, the sand got converted into a shape of a cone. If the
height of the cone was 21 ecm, what was the base area of the cone?

(A) 1980 cm? (B) 2015 cm?
(C) 1780 cm? (D) 2036 cm?
67. What is the value of (1 —lj (1 —lj (1 —1)...(1 _lj ?
2 3 4 20

20 1
A — B
@& o7 ® o

21 1
c = D) —
© 5 ®

68. What is the value of x,if 9°+3*-90=07
@ 3 (B) 6
© 4 D) 2

69. The difference between the compound interest and simple interest on a certain sum of money
at 10 percent per annum for 2 years is Rs. 25/-. Find the sum.

A) 1,500 B) 2,500
(©) 2,010 (D) 1,910

70. If 60-10 means 600, 12+ 4 means 16, 6 X 3 means 3, 10 + 2 means 5, then what is
100-10x1000 +1000 +100%x10?

A 10 B) 0
(€ -10 (D) 20

A -24-



64.

65.

66.

67.

68.

69.

70.

al9]00I880o

alg|nQI88o Galdfr! allleando

038/2024-M

60600 % BRI HOHMER @Dl ©H:06NE B0} Halgl Mloeanemo. @afldd mlo.g@lay

GUaYo OlSIWIOS @O0 % Sean(MIAl@ &S, SalSI@ AUWEHIARMM alE@OIW]

@l ag)@@oem?
A 6 B) 8
© 7 D) 10

weml® cuyemlaii@d 10877 @ LIEHHM ag)(® alB6830 C.oldsHemo?

5,9,13, o,
@A 71 (B) 63
©) 173 D) 74

42 eom@algd apaage 10 ema@algd swoapmes &) milelesd GoyEloleyes
enlenglad Moo aem@ Wlogfldleamnm). enIeEIeRl MeM@ ®IEYHE) D5Ca]OWD M@ 6@}
GH06MIOM @REEIQealss MmOl eoemlam oo 21 amMINQOIeEMSIT Ee06mlend
@oslaunom aflialidemo ag)(@?

(A) 1980 & .0l 2 (B) 2015 &.0il.2
(C) 1780 &nv.nil.2 (D) 2036 &.0.2
1 1 1 1
(1—§J (1—5] (1—2)--[1—20j &M aleljo af)(@®?
20 1
A) 91 B) .
21 1
© 20 D) T

9% +3" —90 = 0 ag)®I@ x 6P MLljo ag)(@®?

A 3 B) 6
© 4 D) 2

2 QURHBEDDHE (aI@lUdado 10 o®@OMo e Mlossldd &) dlvalm  ®E-WIes
®Slalellto@io qVOWOeM aleflvoio MmANleRss Qly® OO0 25. ag)BIEd @Y B66NSEMYH:.

(A) 1,500 B) 2,500
(C) 2,010 D) 1,910

60-10 agMO@ 600, 12+ 4 ag)(MO@ 16, 6 X 3 ag)MI@ 3, 10 + 2 ag)MO@ 5, ag)ssl@d
100 -10x1000 +1000 +100x10 ag)(®"?

@A) 10 (B) 0
(€ -10 (D) 20
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71.

72.

73.

74.

75.

76.

What part of speech is the word “quickly”?
(A) Adjective (B) Noun
(C) Adverb (D) Verb

Choose the incorrect spellings :
I Necessary
II. Neccessary
III. Neccesary
(A) TandII (B) IIandIII
(C) Tonly (D) None of the above

Identify the sentence with the incorrect preposition usage :
(A) He is allergic to cats.
(B) She is fond of playing the piano.
(C) The teacher insisted in completing the assignment.

(D) They are excited about the upcoming trip.

Which of the following statements are grammatically correct?
I She went to the store yesterday.
II. He walk two miles this morning.
ITI. They have eated lunch already.
IV. We going to the park tomorrow.
(A) TandlII (B) 1II and III
(C) IIandIV (D) None of the above

Identify the sentence with correct subject-verb agreement :
(A) Each of the students have their own laptop.
(B) Each of the students has their own laptop.
(C) Each of the students have his own laptop.
(D) Each of the student has his own laptops.

Identify the sentence with correct use of the passive voice :
(A) The cake was baking in the oven.
(B) The chef is baking the cake in the oven.
(C) The baker has baked the cake in the oven.
(D) The cake will bake in the oven.
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Select the sentence with proper use of capitalisation :

(A) 1am going to the mall. (B) I am going to the mall.

(C) IAm going to the mall. (D) 1AM going to the mall.
Identify the correct antonym of the word “Comfortable” formed with the suffix :

(A) Uncomfortable (B) Discomfort

(C) Comfortless (D) Comfortify
Choose the sentence with the correct usage of the phrasal verb “give in” :

(A) He gave into his friend’s request. (B) He gave in his friend’s request.

(C) He gave in the request of his friend. (D) He gave up his friend’s request.

Identify the sentence with the correct usage of a gerund :
(A) She enjoys to swim in the ocean. (B) She enjoys swimming in the ocean.

(C) She enjoys swim in the ocean. (D) She enjoys swam in the ocean.

What is the term for “the excessive use of words”?
(A) Verbosity (B) Eloquence

(C) Conciseness (D) Laconism

Choose the correct option for the reported speech :
Direct speech : “I won’t be able to attend the meeting,” she said.
(A) She said that she couldn’t attend the meeting.
(B) She said that she won’t attend the meeting.
(C) She said she can’t attend the meeting.
(D) She said she wouldn’t be able to attend the meeting.

Identify the sentence with the correct usage of masculine and feminine gender :
(A) The tigress is known for his stripes.
(B) The vixen is known for his cunning tricks.
(C) The stallion is recognized for his strength.
(D) The lion is known for her hunting skills.

Select the sentence with the correct usage of words :
(A) The knight road his horse into the sunset.
(B) The night rode his horse into the sunset.
(C) The knight rode his horse into the sun set.
(D) The night road his horse into the sun set.
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85. Which sentence uses correct comparative degree?
(A) She runs more faster than him.
(B) She runs fast than him.
(C) She runs faster than him.

(D) She runs fastly than him.

86. What does the idiom “to spill the beans” mean?
(A) Toclean up a mess.
(B) To reveal a secret.

(C) To scatter seeds in a garden.

(D) To drink too much coffee.

87. Choose the correct sentence with proper use of the verb :
(A) The child fallen asleep during the movie.
(B) The child fell asleep during the movie.
(C) The child falling asleep during the movie.
(D) The child falled asleep during the movie.

88. Rebecca rarely eats sweets, ——7?
(A) does she (B) 1isn’t she
(C) don’t she (D) does not she

89. What term describes the deliberate and systematic extermination of a national, racial,

political, or cultural group?
(A) Xenophobia (B) Genocide
(C) Misogyny (D) Ethnicity

90. Choose a suitable synonym from the following options for the word given :

Meticulous
(A) Careful (B) Messy
(C) Careless (D) Both (A) and (B)

A -28-
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NAOW alBo BIlEeETHSIHE: :

A e ch&oerzsﬂ B) aflayolsrms

(€) aflayuaisem D) afleyowerns
B QUIH:J0 SHEIENSOITES |

A) MmOy 2lepewedigd allgildepoes edl

B) MmO} 21eyEyAIRd Alloomow 6ol

(€) M0y 21mewedigd allqpfldepacw @l

(D) MOy 2lepewedigd allpiléepomewooswiss @l
2OAIOS EBOSYOTI BB, QUL YOO LVBIWIW alBlBOaUER@OET)?
‘ag) M6 MmEICBM@)eNE’

(A) I am suffering for head-ache (B) I am suffering by head-ache

(C) I am suffering to the head-ache (D) I am suffering from head-ache
@GlIOMIES @D (a0 - BRA|BO AR®IEM?

A)  Zlzemoav B) aflaie

(C) =26momo D) GcZeMmWo

‘oS’ ag)(m alBEDIeM aloo@o 2pales MadslwldlenmMmalld alimio eens

QIS
(A) ®@pcelo (B) mlawo
(C) Hm8so (D) ollslelo
B21ROODY®IL: : QOB + (OB
(A) QIo6U[0BRo B) auowmpmo
(C) owmpEo (D) aJoeelp®mo

‘@000 ag)(M ale@dilong AllaldlmalEo af®?

A) (B0 (B) @oemiwo

(C) @oMom@mo D) oleoao
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